BEE I5ub

= RIRE EA

HAEAREFTEMEEICIYRESLTVET,
B COEN - BRAEZEILLES,

100

T ——
S a: Ty FEHMER S=1/3 )

eV A K* ZHELT THOHDSAICEY TS,

* FREICHLTOTI7rvbDtvh - RHITIE RIGOEIEICT

3 BEVHLET,

[ce]

i 50 . 40 .

gy

i M4 x 10 FATYHREE
o™
(9]

(o]
©
[=]
©
AS)
! |
o EFTL—b ¢60 - -
(W) 5 t=3.2mm (#2FINT ) M4 x 35
hSREVEVT
660 | 61.8 3.2
2275 - _
(E) b: 754 v MR S=1/2
PROJECT NAME DATE DIRECTOR NO.
i, DECORKTED BUROPEAN WROUGHT IRON & SIGN BHREH ALY IA TATHEFTETY 2023/10/31 | 2025/06/26 |
} METAL CREATE | 932 |00 a2 o | | L — s v




BER T390
ERARE BA

HKAREITEFEICLYRESATLET,
B COBEM - BHEELLET,

100

L a: I FEREEMR S=1/3 )
/ 3 ~ = =k N \
75’7“7"9 * ZAFELT THDHAIEATITERY F1F TS,
* FRIZHLTOISrvbD vk - RBITIX, RSO ITRIZT
o BRELDHELET,
8
! 50 , 40
6 |
iy
B | M4 X 10 F_RTy I R EE
)
™
© -
Ip]
[ee]
o
©
©
1
|
o 7L —k ¢60 |
TR t=3.2mm (#5+FINTL) M4 X 35
@S FSREVELYT
. 61.8 3.2
2275 |
(BsmE) \ b: 754y MM S=1/2 )
PROJECT NAME DATE DIRECTOR NO.
DECORATED EUROPEAN WROUGHT IRON & SIGN HRKL AFZILIV I+ TATUBEBEFTFETY 2023/10/31 | 2025/06/26 |

TEL:03-3655-7771
FAX:03-3653-7000

SUBJECT DRAWN

SCALE
% : HRW-102-0 | | WATANABE 1/2,1/3,1/10

® METAL CREATE




